8 7 | 6 5 4 3 2
MEM NO.J DESCRIPTION [zcBYUA QTY.JZCBSUP QY. CATALOG NO. DESCRIFTION RACK CAPACITY
BOX_ENCLOSLIRE ASSEMBLY ZCB7UA | ZEBOX CEIUNG BOX, HOUSES ACTIVE & PASSIVE EGQUIPMENT | 7 RACK LINTS
1 CEILING MOUNTING BRACKET 4 4 ZCB5UP ZEBOX CHLING BOX, HOUSES PASSIVE EQUIPMENT 5 RACK UNITS
2 CABLE PENETRATION BRACKET 2 2
3 CABLE TIE 2 2 @)
4 CORNER BRACKET 2 Z 219
5 BRACKET FOR DOOR SLIDE HINGE 2 2 @
6 #8—32 ST ST PEM STANDOFF 2 2 (2x) 18.31
7 #6-37 x 1/# PHIOPS HEAD SCREW 2 2
8 #10 NYLON FLAT WASHER 1/16 2 2
9 1/4 x_1/2 RUBBER GASKET * *
10 RIV_CAULK, BOTTOM CORNER SEALANT—FIRE_RATED + -
" GROMMET STRIP * bl I #12-24 TAPPED HOLES
DOOR_ASSEMELY ] EIA UNMERSAL SPACING
12 DQOR FRAME 1 1 H
13 HOLE_PERFORATION FILTER HOUSING 1 1 u
14 EQUIPMENT MOUNTING PLATE 1 1 u @@@@@@
15 #13—62 THREADED STUD 4 4 Hp
16 10—32 LOCK _NOT 4 4 i
17 DDOR LDCK HDUSING — WHITE PLASTIC KNOB (EMKA) 2 2 i @@@
18 DOOR SLIDE ARM _BRACKET 1 — LEFT/RIGHT 2 2 ]
18 DOOR SLIDE ARM BRACKET 2 — LEFT/RIGHT 2 2 i #12-24 TAPPED HOLES
20 HINGE_MOUNT SLIDE ARM_BRACKET — LEFT/RIGHT 2 2 . EIA UNNVERSAL SPACING
21 DOOR HINGE TOF 1 1 H
22 DOOR_HINGE HOTTOM 1 1 H
23 RIVET 4 4 H
EQUIPMENT RACK SLIB—ASSEMBLY [
24 EQUIPMENT RACK 1 1 !
25 FRONT BRACKET W/MITERED CORNERS — RACK CAPACTTY 20 2 2 1
26 SHORT ANGLE HRACGKET — RAGK CAPACITY 1U 2 2 i
27 LONG ANGLE BRACKET — RACK CAPACITY 2U 2 2 Hp
28 #12—-24 x 3/B" SCREW ] 8 H
20 F12=74 SELF—CLNCHING PEM NUT 28 28 H
3a NYLON 1/4™ SNAP RIVET 2 2 H
31 PGP RNVET 2 2
32 #10 NYLON FLAT WASHER 1/32° 2 2
EQUIPMENT MOUNTING BRACKET EXTENSION
33 | EGUIPMENT MOUNTNG BRAGKET EXTENGIN — RAGK CAPACITY 2U 2 N/A
34 F12—24 SELF—CLNCHING PEM NUT 18 N/A
35 #12-24 x 3/B" SCREW 8 N/A BOTTOM VIEW
EQUIFMENT - ®
36 FAN_HOUSING ENCLOSURE 1 N/A
37 FAN 1 N/A
38 ELECTRI:AL HOUSING ENCLOSURE 1 N;A
39 10-32 LOCK NUT 4 N/A 1 T -
40 JFi0—32 THREADED SIUD 4 N/A
41 AC ADAPTER (INPLIT) AC12Dv &QHz 11w (OUTPUT) DC12v 300 No 1 N/A
{4x)23.08 12.75 ———]
(BVERALL) 1 '
125
o o | (2x)5.740
(2X)2.687
215
24455
(IJVERALL) ! m@@@
* RTV CAULK USED IN THE
@00 R S e O
SIDE VIEW
DINENSIONING ANO TOLERANCE PER PROJECT REFERENCE- . .
L S Hubbell Premise Wiring
DNENSONS AFE N NCIES ). [ VATERIAL: HUBBELL INCORPORATED (Dalewrs)
E .xé: E:%%N AL SHEET METAL W Lave HEl Moed, Smiaghon, Comeciout DT
- 08 ALLININLM ﬂAﬁ
ANGLE TQL £1°
5 IN ACGEPTING CUR ORAVINES. DRAWN BY: ENGLOSUIRES
B BLUERRINTE, &R &1 PRORTING PALL 5. MAGLIRE D9/25/D2 CELING BOX ENCLOSURE
£ SR OTER FRPORR. Yo NEE CHEGKED BY: SIZE [DRAWING Na- REV-
TOP VIEW A | 4834 |09/25/02 INTIAL RELEASE FSM | RM ||  IEDes inoumoy g RNDY MNOR 10/13/02 | D C11811 A
N, AND APPROVED BY:
Rev. | EcN DATE DESCRIPTION oHB BY | APD BY & AU WTHDAT Per U RANDY MNOR 10/15/02 SoAEr 14 [ 1 o 1




